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The following poetic lines reflect a poet's quest for beauty. Find the poet:
"Season of mists and mellow fruitfulness Close bosom-friend of the
maturing sun;

Conspiring with him how to load and bless".

A) P.B. Shelley

B) Lord Byron

C) John Keats

D) S.T. Coleridge

Correct Answer :- C) John Keats

"The distant strains of triumph Break, agonised and clear".
Mark the poet from which these lines are taken :

A) E.A. Robinson

B) Emily Dickinson

C) Robert Frost

D) Ezra Pound

Correct Answer :- B) Emily Dickinson



Husbandary and Craftsmanship have made an impact upon
poetry.

A) Emily Dickinson's

B) Carl Sandburg's

C) Edgar Allan Poe's

D) Robert Frost's
Correct Answer :- D) Robert Frost's

Who made this tribute on Rabindranath Tagore ?

"He was a darling of versatility ....... An integral whole, the Rishi, the
Gurudev."

A) Sarojini Naidu

B) K.R. Srinivasa Iyengar

C) Mahatma Gandhi

D) Jawaharlal Nehru

Correct Answer :- B) K.R. Srinivasa Iyengar



Mark the appropriate pair of work and author that reflects the spirit of
social life through the genre-novel.

A) Jack Sheppard - William Harrison Ainsworth

B) Amours de Voyage - Arthur Hugh Clough

C) The English Traveller - Thomas Heywood

D) The Principles of Human Knowledge - George Berkeley
Correct Answer :- A) Jack Sheppard - William Harrison Ainsworth

'Viking' is a prominent word borrowed from the

A) Scandinavia

B) Normandy

C) Latin

D) French

Correct Answer :- A) Scandinavia



The most striking follower of the Senecan Revenge tradition is

A) Cyril Tourneur

B) John Webster

C) Thomas Heywood

D) John Marston
Correct Answer :- B) John Webster

The characteristic theme of eighteenth and nineteenth century novels was
the relation between gentility and morality whereas the features of
twentieth century novels are between and

A) loneliness and love

B) despair and hope

C) ambition and depression

D) anarchy and democracy

Correct Answer :- A) loneliness and love
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Before the advent of Christian missionaries, the Anglo-Saxons had a
great spring festival of revival celebrating their goddess of dawn

A) Aurora

B) Eastru

C) Psyche

D) Aphrodite

Correct Answer :- B) Eastru

Micro-Teaching was first introduced at
and Others.

A) Boston University

B) Stanford University

C) Yale University

D) Princeton University

Correct Answer :- B) Stanford University

in 1960 by Allen



Il One among the critical works that promoted formalistic criticism is "The

House of Fiction". Its authors are : and

A) Frank Kermode and Murray Krieger

B) Brooks and Warren

C) Brooks and Robert B. Heilman

D) Caroline Gordon and Allen Tate

Correct Answer :- D) Caroline Gordon and Allen Tate

12 Choose the correct sentence from the options below :

A) The sick envies the healthy

B) The sick envy the healthy

C) The sick envy healthy

D) Sick envy the healthy

Correct Answer :- B) The sick envy the healthy
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Joseph Priestley's "Rudiments of English Grammar" written in the late
eighteenth century is a typical example of the technique.

A) The instructor question technique

B) Open dialogue technique

C) Catechistic technique

D) Guided interview technique

Correct Answer :- C) Catechistic technique

"There is no peace for us in this turbulent twentieth century....." The
whole world is in labour and the shadow of war and revolution lies heavy
everywhere.

A) Sri. Aurobindo

B) Mahatma Gandhi

C) Smt. Indira Gandhi

D) Jawaharlal Nehru

Correct Answer :- D) Jawaharlal Nehru
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Sidney's "Apologie for Poetrie" was published in .

A) 1576

B) 1578

C) 1581

D) 1586
Correct Answer :- C) 1581

Mahatma Gandhi's "The story of My experiments with Truth" was
published in book form in

A) 1923

B) 1925

C) 1928

D) 1932
Correct Answer :- B) 1925
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The average surface temperature of the Ocean surface in equator :

LLIDSHULCTeMSHUN &6V 0L L& H 6T Frmeif]
QeULILIBlem6v 3|66 :

A) 18°C
18°C
B) 20°C
20°C
C)25°C
25°C
D) 27°C
27°C

Correct Answer :- D) 27°C

Based on Koppen's classification of Indian climate Uttarakhand comes
under the Climatic Region of :

QBH W SHTeumHlemevUI 6T G&5ITLILIGIT 616m & LILIMTL L 60T
QLI LUl 2 55 Tameoor(h 6TH& &ITeVIH60I6V
NrCH&FsH 6T HLh UBHMS! ?

A) Tropical Savanna Type

3| LI60TLOGO0TL_6V & 6UITEOTE0TIT 6U6M &
B) Hot Desert Type

G L_T60T LIMeDY6V6U 60T 6160)8
C) Polar Type

SI([H6U eUeM B
D) Tropical Monsoon Type

9| LIGOTLO600TL_6V LIHEULOGDILD 660 &

Correct Answer :- C) Polar Type
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90% of the total gold in India is produced in the State of :

@b Wmallév 90% QLTSS MG 2 MHLSSH Q& UL
LOMBleVLD :

A) Kerala
@& e
B) Uttar Pradesh
2 5507l NgCs&Lh
C) Karnataka
STBTL&IT
D) Kashmir
&HMaq LTy

Correct Answer :- C) Karnataka

The Government of India, introduced the Crop Insurance in :
QBB W ATFMTMHISSSTL LUNFEH &HTLLTH
SAMWSLILGSSLILL L oh600T(H) :
A) 1985
1985
B) 1995
1995
C) 2005
2005
D) 2015
2015

Correct Answer :- A) 1985
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Many Tsunamis were recorded in the region of :

5 & LILILQUIITE0T SreoT LAl 606V & 6T LIS G ulwLILIL L
NrCs&LID :

A) Asia - Pacific Region

AF WM - U s NyCsaFID
B) South America - Atlantic Region

Q56T QWH&HSHT — 3L evmeoorg.s LNTCsH&FLD
C) North America - Atlantic Region

alL QWIfl&sT — 9L eumeoria s LNFCs &L
D) Australia - Antartic Region

LVH CTeSlWIT — 9evoTL M98 LNTGH &L

Correct Answer :- A) Asia - Pacific Region

The height of the highest peak of Peninsular Region in India :
@b wWmalev SLsMHU LNTCHEFHT 6V 2 _6iTerm A& 2 WITHS
FETLD :
A) 1722 Meters
1722 1SLLIJ
B) 4538 Meters

4538 ISLLJ
C) 2695 Meters

2695 LOLLJ
D) 7756 Meters

7756 LOL_LIT

Correct Answer :- C) 2695 Meters
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Leading State of Fish Production in
LS 60T &mug@uﬁ]w (P& LD d]ans@Lo LOMBlevLD

A) Tamil Nadu

S BTE
B) Andhra Pradesh
S BH T
C) Gujarat
GQUMS
D) Kerala
G& e

Correct Answer :- D) Kerala

India occupies the first position in the production of :
QBT 61565 2 HLUSH UL NH6L QLSS
UREHR MG ?
A) Chillies
LAl ermas
B) Cabbage
(DL L B&ITery
C) Onion
Gl6UMISTUILD
D) Cauliflower
FHmedl &L emeury

Correct Answer :- D) Cauliflower



25 The earth's crust and a portion of the upper mantle just below the crust

forms is called :

LAl GLnGeum(h) LnMmMILD GLOGLIT(H 6119 6 TBIS E1H & & &
HCL 2_aT6m GLELLIMEH 60T 62(H LIGS) @) 6ueummi
MW&HSLILOR M.

A) Lithosphere
Blev&GSITeITLD
B) Hydrosphere
Br&GamerTLd
C) Biosphere
2 WFsGamerLd
D) Atmosphere

U 6Tl L0 6D0T L_6ULD
Correct Answer :- A) Lithosphere

26 The composition % of Nitrogen gas in the atmosphere is :

61 611 LD 600T L6V & 5 6L &6V [H S 6ITEIT 6UITU| 8856116V 60MHL_[JE360T
aumweller 556510 :

A)78.08
78.08
B) 20.94
20.94
C)0.93
0.93
D)0.03
0.03

Correct Answer :- A) 78.08



27 Indian Railway was introduced in the year

@b W yullevGeu 21,6007 19 6V
SAMWSLILGSS LI LS.

A) 1853
1853
B) 1857
1857
C) 1869
1869
D) 1859
1859

Correct Answer :- A) 1853

28 The Planning Commission of India initiated Agro-Climatic Planning in

the year

@bHSH WTe6T B L& @ (LD 60 600T WILD
91,600T19.6V Geuermevor LIgheuld S L LANBHI&H6ev HL_ LG5
SlsEHR WS
A) 1979
1979
B) 1988
1988
C) 1985
1985
D) 1981
1981

Correct Answer :- B) 1988
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In Tamil Nadu which two districts come under Industrial Towns ?
SLOILDBITL 196V 6THS @) T6v0T(h LOITEU L L_IBI& 6T
Q&TLOlLEIENM [HSTMHIG6T 60T HLD 6 (HE 60T M 60T ?
A) Salem & Coimbatore
GFeulD & G5 MemIGY
B) Trichy & Villupuram
F(HFFR & N WLILTLD
C) Dharmapuri & Salem
syl & GFeuld
D) Krishnagiri & Hosur

S meqerrR & @& T

Correct Answer :- A) Salem & Coimbatore

India is ranked among 172 countries in the World in the
terms of Human Development Index in the year 2011.

2011 -1 91,600T1.60T L060f15 GLLIML (& & mluL1q 6ot
319 L6 L ul6L 2_eu&leor 172 BT(H Serflev @ H&H WM

@QL&H6L 2 _6TeTsl.

A) 134
134
B) 143
143
C) 154
154
D) 124
124

Correct Answer :- A) 134
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Since 21 November 1975 came under notified tribal area of
Himachal Pradesh.

BeULDLIF 1975 (Lp&6V @ursgFell LNyCs s 5 er
LUWLBIGLIQUlerT UGHW s &GmMlésssLUl L gl LGS ulleor
SO UBRMSI.

A) Bharmaur
LUmg@Lomy
B) Ley
Gev
C) Ladak

6LLIT&

D) Jammu
Al
Correct Answer :- A) Bharmaur

Rural Landless Employment Guarantee Programme was introduced in
the year

SrmlLm Geusmev aUMLIL 2 S5 Tems HIL_L LD
QLD 960071960 HMIWNSLILBSSLILIL L ).

A) 1983
1983
B) 1980
1980
C) 1975
1975
D) 1985
1985

Correct Answer :- A) 1983



33 The First SEZ in India was setup in

@S wWmailey (WP&H6v SEZ 6V MNGHGELILIL L I,
A) Mumbai

(LPLD6EDIL
B) Chennai

G & 60T60) 60T
C) Kandla

8>IT600T L_6VIT
D) Cochin

Q& T& & eor
Correct Answer :- C) Kandla

34 Which five year plan was called as Gadgil Yojana ?

6TIH& HSMeooT(H HIL_L LD 'SITL56L GUIITE60TIT' 6T60TM)
MW&ESILBSR M ?
A) 5" Five Year Plan
591618 BHSMevor(h HIL_L LD
B) 4" Five Year Plan
491615 8BS Meoor(H) HL_L LD
C) 2" Five Year Plan
291,618 8HSMevor(h HIL_L LD
D) 3 Five Year Plan
391618 BHSMeoor(h HIL_L LD

Correct Answer :- D) 3" Five Year Plan
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Which type of Mika is found in Andhra Pradesh ?
ABHTTN6 6THS aUemE MNE&EST &MeooT ILBS MG ?

A) Pegmatite
QU&LOMEmL L
B) Hematite
QamLDmenL_L
C) Magmatite
LOME&LD06DL L
D) Magnet

&HMHSLD

Correct Answer :- A) Pegmatite

The National Development Council in India was introduced by

QBHWmalel GHEF W GLLOLIML (B &H6yeT&I60 WITFMeL

SMWELILGSSLILIL LI ?

A) Ambedkar
IINCLSHSHT
B) Jawaharlal Nehru
L6166y GH([H
C) Radhakrishnan
I TS5 T &) (IH 619.600T 60T
D) V.K.R.V. Rao
a1.C&:.u 5.6, Imey

Correct Answer :- B) Jawaharlal Nehru



37 Who constructed the "Big Tank" at Madurantakam ?

SITTHSEW "QuUlw giflenw" &L IQ W6l Wy 2

A)Rajendran - I

PSTLD QT TERBHS 60T
B) Rajarajan - I

(LPGEVITLD @)\ ITERITTEY 60T
C) Kulothunga - I

(PS6VITID &B6VITES SIS 60T
D) Uttama Cholan

2 G50 GFMLP6OT
Correct Answer :- D) Uttama Cholan

38 After the Battle of Talaikottai in 1565 AD, the capital of Vijayanagar

Kingdom was shifted to which place ?
&).L9. 1565 —6L HEMHVEHBCHITL ML CUIT[HE S LI 6oTeor
ANQWBST CUITH 6T H6M6eVHSIT 6TMhIG MMMLUILILL G ?
A) Chandragiri
FhHE &
B) Penukonda
Q L1689 Q\ & T600T L_IT
C) Hampi
amLbLI
D) Mulabagal

LD6LLIG 6V

Correct Answer :- B) Penukonda
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By which treaty, the III Carnatic War came to an end.
ELNEOTMITLD ST BITLSL CGUITT 6Th&
2 L erUIg &Hem&HUWIN6ITLI (D965 @ UBSSI ?
A) Pondicherry Treaty
LIMeooTIQ & GFf] 2 L 60TLILG. 56005
B) Madras Treaty
QLOL_IJITEN 2_L 60TLILG. 8608
C) Srirangapattinam Treaty
LOf I MBI LILIL1q 60TLD 2 L 60TLILY 86085
D) Paris Treaty

LImiflery 2 L 6dTLIL 560085

Correct Answer :- D) Paris Treaty

During Vijayanagar period the Governors were called as :
QWIBEHT HITeVEH 6V SeUT6oTTaH6T @) 6U6UmmI
SHOLPSHEHULIL L 60T :
A) Nayakas
[5ITW &S T8 6T
B) Pradinis
Ny meof]
C) Sevagar
CFeusm
D) Dandanayakas

& 600T L_[BITUIE G [J& 6T

Correct Answer :- A) Nayakas
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Who compared the British Rule in India to a "Knife of Sugar" ?
@S WTalev 9 mISH G 9Ll & "@eoflLILImeT &5 5"
6TeoTml LN (& Smmluledi wimy ?

A)M.G. Ranade

M.G. JmeoTGL
B) G.K. Gokhale

GK. G&maGev

C)B.G. Tilak
B.G. Hleus

D) Dadabhai Naoroji
SMHTUM QBHeT@rmel]

Correct Answer :- D) Dadabhai Naoroji

Who is the founder of Poona Sarvajanik Sabha ?
LL6OTIT &[JeUMenl16 Fenlienl ML &SHWIeU Wy ?

A) V.N. Mandlik
V.N. 06T 60185
B) S.N. Banerjee
S.N. LmeoTed|
C) G.V. Joshi

G.V. Gzama(l
D) Ferozeshah Metha

QUGT e aq.IT GG ST

Correct Answer :- C) G.V. Joshi



43 In which year, the Protestant mission started its first school in Thanjavur

?

6THS ,600T(H LICT ML GLmervLmevor(h) LOlFedT & 6h& mey,iflev
(LNG6L LI6TElES Sl _Hems QS TLRIS WS ?

A) 1784 AD
@).L9. 1784

B) 1727 AD
&.19. 1727

C) 1732 AD
&).19. 1732

D) 1730 AD
&).19. 1730

Correct Answer :- B) 1727 AD

44 When was the Illbert Bill introduced ?
@6LTL InGFMSHIT 6TIGUMS HMIW&SLILIGSSLILILL S ?

A) 1 February 1883
1 Yigeurfl 1883
B) 2 February 1883
2 Yigeurf] 1883
C) 3 February 1883
3 L0igeurfl 1883
D) 4 February 1883
4 Yigeurf] 1883

Correct Answer :- B) 2 February 1883
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Vijayanagar King Devaraya - II assumed a title called
Il WIB& T LO6OT6OT60T @) J600TLTLD GHeuFmuwiy
6T60TM LIL_L_LD FMMI&H Q& M600T LITH.
A) Gajabetekara

SRS &TIT
B) Praudhadevaraya

L(hSW CSH6UTITWIIT
C) Varahas

eUJM&IT

D) Yuvaraja
W eUTmerm

Correct Answer :- A) Gajabetekara

Which British Commander crushed the 1806 Vellore Mutiny ?
6THS MBI GV HeTLG) 1806 o) 6055605

L &S 6Ty ?
A) J.F. Cradock

JF. Q&ILITS
B) Lt. Col. Malcolm
Q6VLIIQ60TL_ &IJ60T6V LDGVSITLD
C) Col. Gillespie
& Je0T6L HeveveruLil
D) Lt. Col. John Munro
Q6VLILQ60TL_ 85[J60T6V S2IT60T LDGOT@MIT

Correct Answer :- C) Col. Gillespie
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During later Chola's period the dancing girls in temple were called as :

LNms&mev GFMLN &mevsHev Comalleus6rfley [HL60TLOTLY.U
@ LI600T&H6IT, 6TEUGUTMI | 6MLPEEHLILIL_L 60T ?

A) Talaicheri Pendugal
&H60608 C&If] GlLI6oT(H & 6iT
B) Karanas
85 [J600T [ &5 61T
C) Nritya Perayan
Bl F& U GLIyul6dr
D) Aadal Magalir
QLL 6V In&erflF

Correct Answer :- A) Talaicheri Pendugal

In which Congress session Jawaharlal Nehru declared the "Poorna
Swaraj" ?

6THS SMHIG JeN LOMBITL 196V 836UamTevTev GBH(H L, [evor
FUWITRSIWLD ereTUeNS M S5
A) Calcutta Session
HVEHS ST IDTHT(H)
B) Madras Session
QFeorem6or LOMHT(H
C) Lahore Session

VM LOMHBT(H

D) Surat Session

&S LTHTH

Correct Answer :- C) Lahore Session



49 Chittrameni - Periyanattarisa  in Chola's period.
Gl &MevsHev F&H TGLIe6of] — Quflw BTLLTY
6T60T LIS :

A) Tank organisation
gl el

B) Gold organisation
SHEISH | 6MLOLIL

C) Agricultural organisation
afleus M emLoLiL]

D) Army organisation

@I TEmI6 {emLDLIL
Correct Answer :- C) Agricultural organisation

50 Who introduced the Ryotwari System in Madras Presidency ?

Q& 6OTEMEOT LOME TE00TE H6V @) T WSS 6U T (LDemm e
SINWSLILGSH Wy Wiy ?
A) Lord Cornwallis
STyeoTeumedlenv LNLy
B) Lord Bentick
QLI6voTLq MBI LN TLY
C) Thomas Munro
&ITLO6N LD6TEMIT
D) Warren Hastings
GUITI60T GaM6NLY. MhI6MN

Correct Answer :- C) Thomas Munro



51" Muhammad Yusuf Khan is also popularly known as

(W&HING WEFLISTeT LNTLIEULDITS 6T6) 6 MM
QOLPSHEHLILIL LTI ?
A) Anwar-ud-din
36Tl — 2 & — Heor
B) Mahfuz Khan
LOLL, 60 & T60T
C) Mohammad Ali
(WSO G 60
D) Khan Shaib

&IT60T FTHL

Correct Answer :- D) Khan Shaib

52 Who was the Governor General at the time of IT Anglo - Mysore War ?
@) 7600t LITLD S MBIHGeu — MG T GUITH HemLQLIMHMm
CUIMSI &6UT6TT Q60T @ HHSH6UT WITH ?

A) Robert Clive
@UTUTL S emerel
B) Lord Warren Hastings
eUITeoT Gaunerlg mien LIl
C) Lord Wellesly
Q@ eu6veVENVEI LY
D) Lord Cornwallis
&myereumedlenv LNLy

Correct Answer :- B) Lord Warren Hastings



53

54

Which one is the birth place of "Boothathalvar" ?
Q&ETHHELILLB6TeTeUMMIEL "L S SSTLLaITT" LIMbHS
6] 6TS! ?
A) Kanchipuram
SHMTEHF LD
B) Thanjavur
BEHFTeLT
C) Mamallapuram
LOMLD6V6EV L] TLD
D) Gangaikonda Cholapuram

&HMI60) &G & MTe00TL. GFMLOLTLD

Correct Answer :- C) Mamallapuram

Kanchi Vaikunda Perumal temple was built by :
FHTEHT) emeUGeoorL QLIHLOMET Gamullemev SL1QUIeU

A) Rajasimhan

@ TG LD LD6T
B) Simhavarman

G\ LD LD6UT LD 60T
C) Nandivarman

151 &) 6w [ L0 60T
D) Simha Vishnu

F DD 66 7Dl

Correct Answer :- C) Nandivarman
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Which Pandiya King excavated the Rock-cut cave temple at
Malayadikkuruchi ?

LD6M VWY& &GN FFIUN 6L 6THS LIMeooTLq U LD 6OT60T60T
GmLeuen] CHmallemev Hlmieleor iy ?
A) Kadungon
& (H\ MG & TeoT
B) Arikesari Maravarman
AfGs& & InmmeuyLnesT
C) Maran Sendan
LOTM60T G&FH& 60T
D) Maravarman Avanisulamani

LOMM6UTLO60T 361 601G 6VIT L0600

Correct Answer :- C) Maran Sendan

Where was the first rock painting discovered in Tamil Nadu ?
SLOILDBITL 1960 Sevor MWL L &6V LIMemm pedliLD
6TTRIE 600D SI6TETS! 2
A) Nilagiri
bev&Iifl
B) Mallapadi
LOGLEVLILIITLY
C) Attirapakkam
ASHTLILMEHSLD
D) Pudukottai

L &&HCHTL 6L

Correct Answer :- B) Mallapadi
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If— + . + 1 =4 then whatis x 2
3 2 b
% + % + ;' = 4 ¢T60Tl60 x —@\60T LOGILIL] 6T60T60T 2
A)2
2
B)5
5
¢ 7
19
7
19
D) &

&
Correct Answer :- D) 17

58 7 km - 4200 m is equal to :
7 &).15. — 4200 LS -5 FLOLDTEOTS

A) 3 km 800 m
3 &).10 800 LS
B) 2 km 800 m

2 &).16 800 LS
C) 3 km 200 m

38).159200 LS
D)2 km 200 m
2 &).15 200 LS

Correct Answer :- B) 2 km 800 m
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Simplify : 6x> + 1 - [8x - {3x?-7 - (4x* - 2x + 5x + 9)}]
FHEHGSGG : 6x>+ 1 -[8x - {3x2-7 - (4x>- 2x + 5x + 9)}]

A)x?-11x-5
x*-11x-5
B)5x?-x-1
5x2-x-1
C)5x%-11x-5
5x*-11x -5
D) 11x*-11x-11
11x2-11x-11

Correct Answer :- *

The sum of three consecutive odd numbers is 75. What is the largest of
these three numbers ?

MBS H\SS CLLETMI RMHENM 6T600T & 611607 o (D S6V 75
6T60116L QUM MIGT 675 QIUIflul eTevoT ?

A) 17
17
B) 19
19
C)21
21
D) 27
27

Correct Answer :- D) 27



61 The unit digit of 47 is :
47 6T60T M 6T600TH 61T160T ER6OTMITLD @)6VE&H G50 :

A)4
4
B)6
6
C)2
2
D)0
0

Correct Answer :- A) 4

62 Ifan article is given two consecutive discounts of 25% and 20% then the

total discount percentage is

(H QUITH6T 6T LIS aUpmISLILGLD @0 QS TLIT
SH6TEHLIL&H6T (e MEU 25% LOMHMILD 20% 6T6of 160 @ &M S
FLOLOMET QLTSS H6TEBHLILG F&6T5 5 5 6m60Ts &5Te0orss :

A)40%
40%
B) 42%
42%
C) 42.5%
42.5%
D) 45%
45%

Correct Answer :- A) 40%
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2= 2ang 2 = B whatis 2 2
b 11 c 5

a b 13 .. a .
— = LD D — = — &T6uTI6D — 6T60T60T 2
b 11 mDi c 5
A)E

5

2

5
B) 1;

13

1

13
O 13

11

13

11
D)E

55

39

55

39
55

Correct Answer :- D)
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The inner and outer radii of a hollow hemispherical shell are 3 m and 5
m respectively. The total surface area of the shell is (in square metres)

6(H 2_6Tef L MM 60T CETeT L 19.60T 2 6T L0MHMmILD
QeuerfllILm QLT MIG6T (NemmMGW 3 LY LoMMILD 5 LS @& LD.
@ 19.60T QTS S LI LmLILTUL (F&T WL LIflev)

A)264
264
B)213
213
C) 224
224
D)214
214

Correct Answer :- A) 264

Ifgz—ondE:—ﬂndE
C a
a 2 b o 2 ;
E=§,E=—ﬂsnﬂmaamma
A) 10
21
E
21
B) 21
10
21



21
Correct Answer :- B) 10

The sum of three prime numbers is 80. If two of these prime numbers
differ by 4, find these primes.

LRG0T LIGSIT 6T600T85 61Tl 60T Sm(h) &6V 80. UM MIGT @) (H
6T600T85 61Tl 60T GeumILIM(h 4 6T60T16L I [H S5 6TEOOTEEMEIT &5 IT600TSS

A)7,11,62
7,11, 62
B)2, 37, 41
2,37, 41
C)3,37,41
3,37, 41
D) 13, 17, 41
13,17, 41

Correct Answer :- B) 2, 37, 41



67 1f the wheel of a car travels 3520 cm in 20 revolutions, find the radius of

the wheel.

&(H LD (W H SN 6T F&H ST 20 &HMmIs6Tfley 3520 Q&S
Q& TEMEVEMEUE &L ST M 6T60T 160 3| &H60T QL TLD WITSI ?

A)7cm

7Q&.8
B) 14 cm

14 Q& .19
C)28 cm

28 Q&.18
D)35cm

35 QF.189

Correct Answer :- C) 28 cm

68
il

Arrange in ascending order : —, =z

~|w
o o

1.2

HH ST &HGLD suiflenaiTied HMDEHS : =, ST

|
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4, 4 8
T e
D36 4
713" 11
4.8 2
7 13 1

kI 3

Correct Answer :- A) 7

12% of 250 litres is equal to of 150 litres.

250 e9L_L_ifledT 12% eTedTLIG! 150 601 Lifl60T
FLOLOMGLD.

A) 15%
15%
B) 18%
18%
C)20%
20%
D) 25%
25%

Correct Answer :- C) 20%

256G
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If two equal hemispheres of radii r are taken and their bases are joined
the total surface area of the solid so formed is :

r VG 6T QTN 2 6mL U @ IH FLD

|60V [J& B TET IS 611607 19 LILIG & &6t

@ 6meooTs S LKL GUIMS 2 (HeU M@ LD 5)evor L0 g 5 6ot
QLMHS LML

A) 4nr? sq.units
4nr’ &. 9]
B)

2 it
—r~ sq.units
3 g

.
—mT* &.
3 =

C) 3mr? sq.units
3nr’ .9
D) 2nr? sq.units
2nr’ &F.9)]

Correct Answer :- A) 4mr? sq.units

Consider a frustum of a cone with lower and upper radii R and r. If h is
the height and | the slant height of the frustum the total surface area of
the frustum is :

R LDMMILD r 6T6dTM SBLD LoMMID GLOMLIM T BIS 6T

Q& T6E00TL 62(H ForLDLINGIT )60 L_E>5600TL_ 5605 &H([HS!5.

@) 608586007 L& H 60T 2_WIFLD LoMMILD FTWjWFLd h, 1 6Tevtl6v
9|&H60T QDTS SLD LML

A) (R+1)l + nR?
n(R+r)l + nR?

B) n(R)I + nR? + r?
(Rl + nR? + 7ur?

C) nrl + nR? + mur?
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nrl + nR? + qur?
D) n(R+1)l + R? + 7
n(R+1)l + nR? + mr?

Correct Answer :- D) m(R+r)l + R? + r?

In an election where A and B contested, A won by a vote margin of 192.
If A got 58% of the votes cast, the total number of votes cast will be :

A DOHMID B UMIEG QUmHM CHTEH60160, A 192 aums @& 6l S U mFgH6v
Qeaumn) QUMMTT. A, LIS6UT60T 6UITe &85 6rfl60 58% QUIMMITH 6T6vfl6v
LIS 6UIT60T GQILOITE S 6UITE & 56T 6155 60)160T ?

A) 12000
12000
B) 1250
1250
C) 1200
1200
D) 1080
1080

Correct Answer :- C) 1200
What is 25% of 30% of 400 ?
400 @)60T 30% L0 L1L9160T 25% 6T60T60T ?
A)20

20
B) 30

30
C)40

40
D) 60

60

Correct Answer :- B) 30



74 At present mother's age is 5 times the age of her daughter. 2 years later

75

mother's age will be 4 times that of her daughter. What is the daughter's
age now ?

6(H 3|DIOIT HEOTEI6EM LU LD &6 160T UG emeor GLIM6eV 5 LOL_BIG
awWHev Quflweld. 2 o er(H & EH &G L LNIMG&, Sibnmeller euulg),
L0 &6rT60T euUlem &L GLIM6V [HITEIT( LOL B, Ln8s6rfledT &mGLImen gl
GUUI S 6TEOT6OT ?

A)3
3
B)7
7
C)5
5
D)6
6

Correct Answer :- D) 6

Rama invests Rs. x in fixed deposit at 6% per annum interest rate. The
simple interest for one year is Rs. 1320. Find x.

JITLO60T 4,600T(H &G 6% QUL LG SHLD BITHST 6Ll
BISUll6v x eHLIMUI (NS65H QFUWRMTY. R0H 3,600T(H &G
&60f] QUL L €. 1320 6T60f16V x —@)60T LOG)LIL| 6T60T6OT 2

A)Rs. 7,920

em. 7,920
B) Rs. 22,000

e. 22,000
C) Rs. 20,200

e. 20,200
D) Rs. 2,20,000
er. 2,20,000

Correct Answer :- B) Rs. 22,000



If the height of a right circular cylinder is 20 cm and curved surface area
is 1760 cm?, find its radius.

(@ GBI el L 2 (pemeTulledr 2 W 20 Q& .15 LnMmMmILD
315607 QUEMETLITLIL] 1760 Q& .L5? 6T60116V ]S 60T 4T LD
6TGOT6OT ?

A)7cm

7 Q& .8
B) 14 cm

14 Q& .19
C)21 cm

21 Q&8
D) 28 cm

28 Q.10

Correct Answer :- B) 14 cm

P 2

. (125)°= (75)
S | . MM O, GG )
implify 5

SO (125)2— (75)°
50
A) 100
100
B) 150
150
C) 200
200
D) 250

250

Correct Answer :- C) 200



78 Find the next term : 4, 11, 31, 69, ....

(&S aU[HeUS eTedTe0T 2 4, 11,31, 69, ...

A)122
122
B) 123
123
C) 125
125
D) 131
131

Correct Answer :- D) 131

79 For a principal of Rs. 5000, if the rate of interest is 4% per annum, for a

period of 2 years what is the difference between simple interest and
compound interest.

€. 5,000 (LNS6V, ,600T(H 6UL L ef5LD 4%, 6T6vtl6L 2
6001 (h & 6rflev &6ofl QUL 1S G LD, Fal(h) 6UL_19.8GLD
615 5\ WITEF LD 6T60T60T ?

A)Rs. 24

em. 24
B)Rs. 20

em. 20
C)Rs. 16

em. 16
D)Rs. 8

em. 8

Correct Answer :- D) Rs. 8
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81

If the product of two numbers is 300 and their HCF is 5 then the numbers
are :

@ evor(h) FFiflevE:a 6T600TH61T160T GLI(H &8 MLIEVEDT 300
LMD eumMMIeT LS.QLLGIT. 5 6760116V 36661600 6iT
Wwimemey ?

A)30, 10
30, 10
B) 15, 20
15,20
C)8, 25
8,25
D)5, 60
5, 60

Correct Answer :- B) 15,20/ D) 5, 60

These are the major classification of attention :

LG UI60T 85616078 B 60T (LN &G W Uem S LILIT(HI&H 6T
AGLD.

A) Personal and Impersonal

SeoflLILIL L LDMmmILD QUITSI6! TeoT
B) attention and distraction

&HEU6TLD LDMMILD &56160TH & M6V
C) superior and inferior

GLD6OTE0LOWLIT6OT LOMMILD &ITLDGU 60T
D) objective and subjective

L|MeUUILD LDMMILD {&6UWILD / LiMBlemev LoMmILD
3| & Blen6v

Correct Answer :- D) objective and subjective
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Concept is —— that are grouped together based on some common
properties.

FHHSHS) 6TEOTLIGI GILITSIGUITEOT (& 6007 TS & LI &5 61T 60T
QL6 UYL eTmMEHSLILLL —— QSMTGSLIL
QLG LD.

A) a collection of experiences and ideas
HHS SIS 6T LDMHMILD |60 LI6MHI S 6rfleor
B) a collection of theories and principles
GamMLLUMH&6T LDMMILD 68 MTeTen & 861l 60T
C) a collection of models
LS\ ifl & erfl 60T
D) a collection of figures

o _(HeuUmlgerflesr

Correct Answer :- A) a collection of experiences and ideas

Animate objects are distinguised from inanimate objects chiefly by their
to maintain the flow and cycle of life.

QUMDHMS FLPMHEFIUN6L 2 UNmeTaT QUMTBHL&HT — 2 ugmm
QumLaseflL®Bhs CaumLhssLILUQSR M.
A) potentiality
ALMMEV / 3|55 H MEITSH6ITITEV
B) characteristics
L1600T L] [H6V60T&H 6ITIT6V
C) external skills
LIM & &) M 60T& 66V

D) experience

9D LI6UE STV

Correct Answer :- A) potentiality



84 Two types of the changes in various dimensions of one's personality are

e (HeU 60T QY EHemnnuiev LIcuCeumi LiKflLnmevor migserflev
gJOLBILD @ Tevor(h 6U60I&UIT6OT LOMMHMLD 2,60TS!
6T6OTM S MPSHELILIGTRMS).

A) quantitative and qualitative

&G blenev LDMHMILD ST Hleney
B) positive and negative

GBI MM LDHMILD THFLOmM
C) growth and development

QUETIES LDMHMILD (LPeTGeorMMmLD
D) height and weight

o WD DMMILD 6T60) L

Correct Answer :- A) quantitative and qualitative

85 stops when maturity has been attained.

WHTEF e CUTEH — mleorm e (HILD.

A) development
(LpeoTGeoTMMLN

B) growth
QUETIES

C) maturity
WHT&FF

D) increase in weight

AH G 6TevIL

Correct Answer :- B) growth



86 According to Piaget, four basic elements in development are

87

LNwmGeell6dr ammiLiLILg, euem &R U 6T HTeoTE 31q LML
FnMIFHET —— L (SLD.

A) Maturation, Experience, Social transmission and Equilibration
WHFTEFF, 9g@ILIaID, FUNSIOTHMID, FINSHBSHSLD
B) Experience, learning, appliction, knowledge
Sj@ILIaILD, HMHMEL, LWeTU(H\ GBS, le)
C) Attitude, Aptitute, interest, attention
BITL_LLD, LDGOTLILITEOT6MLD, QL FaULD, &H6)U60TLD
D) Analysis, Synthesis, Attitudes and Aptitutes

LU&SSM 60, 0S5 TESSSMIS6V, BITLLLD,
LO 60T L1 LIT60T60) L0

Correct Answer :- A) Maturation, Experience, Social transmission
and Equilibration

1S an emotion aroused in infant when his movements are
restricted.

CTTLIS! @6 G LHe0S W6 31606 &HET {606V
QFWL&HET H60 L Q& WIWLILI(HILD GUITE SmevorLLILI(hLD 62(H
o OTHEG.
A) Anger
@& TULD
B) fear
LWL
C) hatred
QeumILIL]
D) cry
SHWPeO &

Correct Answer :- A) Anger



88

89

involves the biological processes of growth and
differentiation.

6T6OT LIS eUeT &S Lommild CeumiLi(h&edleor
2 WIfluel QEFUW6L (LNEMUITELD.

A) maturation
WH &S

B) learning
&HMHM6Y

C) development
(LpeoTGeoTMMLD

D) growth
T &F &

Correct Answer :- A) maturation

In the hierarchical order of learning, denotes a higher type of
learning.
FHMHmedler aurflens LI Blemevulley —— eTedTLIS

HMHMmedler 2 Wiplemevenl GMI&EHMSI.

A) Concept learning

& (ST em6uT & MMV
B) Social learning

FeLNsS HMM6V
C) verbal learning

QT &mHmev
D) problem solving

LNgFsememenl ST5H60 / LNTEFFn6rs & Hiey
&5 T600T LIS

Correct Answer :- D) problem solving



90

91

Mort and Ross is of opinion that "wisdom can be defined as the drawing
off of

LTI MHMILD FIe & W Tserler o MmILILIL @HIT6OTLD 6T60T LIS
A) accurate generalisations from experience
VLIS H O ([BHS! FlevedlWwiLnmeor
QUMM LOLILI(HN &SI H6VFHEN 6T 6160 TH 6V

B) accurate facts from experience

I ILIGEH O (BHS S16V60WILDITEOT & ([HE S5 60)61T
UGN TH6V

C) truth from experience

I 60ILIAUS T 60l (HH S 2_600T60)L0G6M 6T 6U6D) [J556V

D) ideas from experience

316016155 60 (H[H S| 6T600T600T Ml &5 60 61T 61 60) [J 556V

Correct Answer :- A) accurate generalisations from experience

The broad types of guidance are .
QN ST (HH6960T LITHS 61608586 ——

A) Educational guidance, vocational guidance & Personal-social
guidance

&Hevall UPNGETL (&6, QS TLEI6L aubl& T (H &6V, SeoflLLL L
HMILD Fewns auPlaTL (H &6V

B) Educated guidance & social guidance
&Hevall aUPNSTL (ML InMHMID Felns alPNlsTL (HH6V
C) Vocational guidance & social guidance
Qsmlev auPlETL M6V LnMHMID Felnd ULl TL (h &6V

D) Vocational guidance & personal guidance

Q&mlev auPlETL M6V LDMHMID FeoflLILL L euld
HTL(H &6V

Correct Answer :- A) Educational guidance, vocational guidance &
Personal-social guidance



92 The word 'emotion' comes from the word 'emotus' which
means "a movement from, outward".
o GoOTJE G 6T60TM Q&MY —— QUITE 6008 WIT6oT

TQLMLerNeS BB S aUbSS. & Teus QeuerlliLmid
QOEE b QUIHSLD.
A) Latin

6V 5 B 60T
B) Greek

FCT&HS
C) French

LN Ehs
D) German

QLG0T

Correct Answer :- A) Latin

93 Which is not propunded by Thorndike ?

@eUMHMI6L 6151 &ITIT600TE0)L_E>8T6V
WTQLMEIWLLILL L 6m6U 3{6V6V ?

A) the law of readiness
2 W55 S

B) the law of effect
aflemere] allG)

C) the law of exercise
LD G

D) the law of condition

BlUbHS 60T alG)

Correct Answer :- D) the law of condition



94

95

The role of emotional growth in child development is
physical, mental and even social growth.

GBS alemF&EF U6y, LNeTReIWEDR aue6rTFa&lulleor

LIMI@ 2_L_6V, L060T LDMMILD FeLNSs 6U6TIE Flenls
STLIQeIn —.

A) more simple than
& e LD eTerflwi g

B) equal to
FLOLD

C) cannot be compared with
UL @ueursl

D) far more complex than

LN &6 LD F\ &5 60MeTS

Correct Answer :- D) far more complex than

An increased capacity for sympathy & compassion for onself and for
others shows one's

TS G LD, LDMMEITHEHEHGD S TLILD IDMMID @ T&H&HLD
21 &fSHGLLS @Bl ——— &TLOHDI!.
A) Intellectual maturity

M6y WHTFFemW

B) Emotional maturity

DTG EU(DESR LNH TEFlevrll
C) Social maturity

Fens (NS JEFlevl
D) Physical maturity

2 L6V (NHIFEFemnwl

Correct Answer :- B) Emotional maturity



9 At stage, attitude, interests and moral values of an individual

97

are guided by peer.

— @ BUIfledT LETLILIMHIG, Qe LDMHMILD
ST IDFLIL|G6T FHMTEHEHETTE 6Ll
HL& & L1 (H G 60T 60T.

A) adolescence
@)6memLD LI(HeUS T 6V
B) childhood

GBS LIGeSEI6
C) later childhood

LIM&mev GLpHems Li[Heus H eV
D) adult

UWEIaIBHS LIHeUSHev

Correct Answer :- A) adolescence

Distraction as a psychologist term, has been defined by
o earellwed et IS SGTILILIL., 'SHeU6TdF FlgMmeV' 6TeorLIS ——
96V UM TWMISSLILL LS.

A)Ross
JITen
B) William Hamilton
ellevedlwih GamLilevL 60T
C) H.R. Bhatia

H.R. LmTLquirm
D) Woodworth

QL QUM

Correct Answer :- C) H.R. Bhatia



98 Non-formal Education as an alternative to formal Elementary Education

was experimented with as early as

(PEMUWITET QGHMTLEHE HeVal&HE LDMTMMTEH (PENMETTT Hevall —
QBMLESHSHCCW LUFICFTH&HLILL LS.
A) 1986

1986
B) 1966
1966
C) 1976
1976
D) 1974
1974

Correct Answer :- C) 1976

99 According to Guilford's theory, there are three dimensions in the
structure of intellect they are :

FevCUMIL CaHmLuMmLIqeTLl, mledler emnLiLlev eLnesToy
LITFILD IT600T MBI S 6T 2_6ITEMSI. 3{6M6) :

A) operational dimenssion, content dimension, product dimension

QFwWeuITL(H LKlnmesord, QUIM@B6T LiKflLnmesor LD
LommiLh eflemera] LIKfl0meoorLd

B) system dimension, content dimension, product dimension

@ (HMHIGHEMLNLIL] elemnd LFlnmeoord, GILITIH6T
LIflLomeoor LD, ellemerey LifflLDmeoorLD

C) Semantic dimension, evaluation dimension cognition dimension
Q&MmeL QUIMT@BeT Lflnmeoord, LDSHILILT(H Lflnmesorid,
9imMley LIflLnmesorLd

D) operational dimension, semantic dimension, cognition dimension

QEFWeLLITL(H UKDmesorld, QFMeLELIMTIHET LIFnmesorid, oinley
LflLmesor LD

Correct Answer :- A) operational dimenssion, content dimension,
product dimension



100 One of the important aspects of self actualisation is freedom from

ST Hlen M6 G emeauss6rfledT (L& & WILNTET L& MmhIsserflev
ReTm —— all(H&H6emev.
A) cultural & self -imposed restraints
SHOVMEFTTL LMMILD FWasLHLLTh &efledmhs!
B) personal issues
seoflliLL L LNgyggenerwiledpbs!
C) social needs
Felns CoemneudsertledmHal
D) physiological needs
2 Lev &my G emeudserfled bl

Correct Answer :- A) cultural & self -imposed restraints

101 The group of children superior at an earlier age
(LNIHEDI S UL Guu_@eu FmHS Blemevulev 2_eTer @ggmemg;asaﬂm SW

A) remained superior throughout the years of study.
LI &@&LD 21,6007 (N &ET (LD (LpeUSID FIMIHS
BlenevuGevBW @ @LILIT

B) may change in the course of their study
LIQ &G LD &ITEVMHIGET6 LDTMEVITLD

C) could not be predicted
& 6001158 (LPLGUITS

D) may become equal with others in the due course

6U(HLD SITELMHIGET6L LDMMEUFTE EHL 60T FLOLDTS
LOTM6VITLD.

Correct Answer :- A) remained superior throughout the years of
study.



102" A child whose parents or guardian's income is lower than
referred as a child belonging to weaker section.

QUMEMIMTT VLS LIMSHISHTEUT 6)([HLOITE0TLD
L& GemmeaUTd: @) (HoH LD GLHemns LisvaTeor Lnmeor
iflemeud CFIHS &LLIHe0)S eTeorm)
SOIUINL_ UGS .
A) lower than 1 lakh
R QEVLFSHDGSLD GeMD6UTS
B) lower than 2 lakh
@ reoor(h) @6eVL_EFSH MG LD &6 MmeUTs
C) lower than 1.5 lakh
RETMENT @V FSHMGSLD GHeMMmaITs
D) lower than 2.5 lakh

@\ J600T L6 T @ VL FSHMGLD G MeUTsH

Correct Answer :- A) lower than 1 lakh

103 Creative measures emphasis

A5 EHST MET Q& UI6VSH6T 6)16\5] W M5 Si6US

A) divergent thinking
a9l &\ b & 6vr60T

B) convergent thinking
&l R [b& 60160

C) reasonable thinking
SHITJ600T &\ [H 5560 60T

D) sincere thinking

GIBTemLOULTEoT G\ [ &5 60) 60T

Correct Answer :- A) divergent thinking



104 Choose the correct one :
Frflwumereumenm CHTHASHH&8LD :
A) Parental Negligence is one of the personality spoilers

QUMHCMTH6T eV FIWILD, 6 (HEU1 60T 23,6560 06T WL
FIGHmeVLILIH 6 6TMMTEH @ (HHHMSI

B) Parental over-production will not affect the personality of the child

QUMMM H & LIMSISGTLIL| GLOH0SUN 60T 1,615 60)L06M UL
LTS &&MSI

C) Friendship has no room in affecting the child's personality

G ITLLEMLNG & GHLOIH60 S W 60T U, 61560 L0 60 UL
LTHILILSI6L @ L LD &) 6vem6v

D) Family does not influence the personality of the child
SO LU, GLOHe0 S UN 6T 3, EHemLDem Ul LITH & TS

Correct Answer :- A) Parental Negligence is one of the personality
spoilers

105 Individual's painful thoughts, ideas and memories are excluded from his
consciousness without the person's awareness of it. This is

& 60fl BLIT1 60T G685 60)60T UIT6OT / &160T LILDITEOT 6T600T600T Al S561T,

&([HH S 6T 6U6T MIWIMINCLECW I 6UTS Bleneralley @) HHS
V[V X INTRI QAT TR T 1) R —

A) Regression

L9l 60T G60T ME & LD
B) Withdrawal

LY 60T 6 T MI(& &6V
C) Repression

15 & &> (& &6V
D) Sublimation

LO6DYL_LOMMMLD

Correct Answer :- C) Repression



106 believed that our fantasies often reveal motivational basis of
our actions.

6T6EOT LIGUT "HLOGI &M LIED60TE6IT GlLI[HLDLIMEILD
BLO S| 26188 & 60T 119 LILI60)L_UN6VTEoT G1& LLI6L&H 60 6T G
QeueflliL(QSSILD" eTedTLIENS BLOLI6oTITI.
A) Maslow
LOmenGeurr

B) Ausubel
L &GILI6V

C) Murray
WLren

D) Mcclelland
QL0860 GevevoT L

Correct Answer :- D) Mcclelland

107 'Parents with an unmarried daughter would be on the look-out for a

suitable bride groom" This is interest.

") (IHLO6DOT LO TS TS LDFHEHE G 3j6uerfledr QUmHBMITY
QUITHSSLOITEOT LN6TOTLO&H6m60T CHHeUT". @) S

L JEULD.

A) momentary

SM&Med &

B) permanent interest

BIIhST
C) Cultivated

LeooT LI (NS &SLILIL L
D) attained

S| WL L

Correct Answer :- A) momentary



108

109

is a science that deals with human welfare and pervades all
fields of human relationship.

6TEOTLIS LDGDT 15 [HEVEm6EITS: 6M&ULIMEHLD L0 MHMILD LD6oT1S%
2 M6 emersH vl lWmESH m 3nlelliev G L.

A) mental hygiene
LD 60T [H V61 LI 6V
B) personality
3, €@hHevLD
C) humanity
L06ofl & a6
D) psychology
2 emeilwley

Correct Answer :- A) mental hygiene

The test consists of ten cards depicting animals in different life
situations. Children project their feelings and experiences on the animals
of the card. Which test is it ?

@)\ FCEMGHem6oTWIMeoTS! 656 8 WITELOT60T 6UITLDE 605

G LoBlemevaserflev alleumiG &6t FHHH G LSS L 601 5606
Q&MTEOITL&. GLOHEM S 6T &MHhIGETS 2_600T & &8 606 LD,

S| WILIAUMBISGEMETULD, SIL_6mL U6V STHIGET LIMTFEHGLD
allevmIG S ertletr Gnev LNITH UL ILITIS6T, @& 6THE C&F TS 6em 6ot 2

A) Thematic apperception test
QUIT(HEIT @) 6060015 8N G&F T 60)60T
B) Rorschach Ink Blot test
GImiaq me5 6T 60lns L. C&F TS 6060
C) Word Association test
QFMMSHEM6ET @) 6M600THSH6V CF M 60)60T
D) Children's apperception test
GLLIHEM &5 615 & & TE0T @) 60160075 &M G & M55 60)60T

Correct Answer :- D) Children's apperception test



110 "personality is an integrated pattern of traits". Who defined personality
like this ?

" 91 EHEMLD 6T60TLISI LI600TL|861T160T 62 (IH IG5 60)600T [H &
(LDEOM" @)6UGUTMI L EHED) DD 616D) TUIMISSHEUT W ?

A) J.P. Guilford
JP. ®evGumrL
B) Sigmund freud
G & nevorl LINFmul@®)
C) Ausubel
QL & GILI6V
D) Roger
Gy

Correct Answer :- A) J.P. Guilford

111 Vanderwaal's gas equation is

6L IT6ToT L_[T6u medl 63T Uy &marrurr@ G LD,
A (g
[F’ " E] (V=b)=0




V2
V(e
g

P+ %l (V—b)=0
Correct Answer :- B)

112" The temperature at which Feromagnetic material becomes a
Paramagnetic substance is
QUG &MHSLI QUMTIH6TEHET LITCTIT &HMHSHLI
QIUIMTIHLGETMTS LDMMILD QeULILIBlemev .

A) Neel temperature
Bev Qeuliumleney
B) Critical temperature
2 F& GelllLplemev
C) Constant temperature
LOMMIT QeULILIBl66V
D) Curie temperature

Sw,ifl QeuliLImBlensy

Correct Answer :- D) Curie temperature



113

114

In a strong magnetic field a given spectral line will split into 3
components due to .

&(H BIMLOMen6V aUlWImeTS 6UedlemLOUITeT &MTHS LI6VSSH6V eLeiTmI
LN fleysemm@&Ld. @& MS&sTeoT &ITJ60or LD

A) Normal Zeeman effect
FMGTyeoor en5Leor ellemerrey
B) Stack effect
eI TS allemereay
C) Paulis principle
Lmedlufledr &5 s161LD

D) Larmor recession principle
QUITITLOT &HLANIS6) HSSIQLD

Correct Answer :- A) Normal Zeeman effect

The total flux over any closed surface (s) is given by
S' eTedTM eLpLg W LFLILemL W LGS ulev gmLBLd QLTSS
LIMTUW &S5 60T 2|6mey

A) ¢ = -ij:E,dS

@ = -:f:E.dS

C) o=ES
o=ES
D) ¢=2Eds
¢=2Eds

@ = -:f:E.dS
Correct Answer :- A) ’



115 The efficiency of Carnot's Heat Engine is :
SMTHeTTL QeullL @UBH TEHS 60T GLIIHEE Hmeor

A) _ _T_‘-J
M 3
_i kB
M T
B) T5
Ty
_ b
Ty
O _
m 7,
I
m 7,
D)n=1
n=1
T
= |——=
M T

Correct Answer :- A)
116 The magnetic susceptibility of a paramagnetic material 'cm' is given by

the relation :

LUTCIMLOTEG60TI.8 QUITIHL. G660 &MTHE L8 S meor :

A) 5 =MH

% m=MH

B) qrmz%
¥, =M



. =
Correct Answer :- B) 4 %

117" The alternative name for group 2 elements of modern periodic table is :

Beler Heoflln auiflens 9L L aueneorulledr Q& TGS 2
& 60t LoMmIg 6rfledr Geumi QLI :
A) Alkali metals

ST 2 CeVMs MG 6T
B) Alkaline earth metals

&HTJLO600T 2_G6VITE MG 6T
C) Lanthanoids

6LITIH G 60T ITUI (H & 6IT
D) Actinoids

21 5519 60T MU (h & 6T

Correct Answer :- B) Alkaline earth metals



118 Which of the following is an interstitial carbide ?

L9l 60T 6L (TH 61 60T6U D M 6T 6T @) 60 FQEFM(IHSH6V SITIeoLI(h
QL&D ?

A) AlLC;
AlLC;
B) SiC
SiC
C) Be,C
Be,C
D) WC
WC

Correct Answer :- D) WC

119 The chemical name of Marshall's acid is :

LTHag6v LblevsH 6T GeuSH LIQLIWIY

A) Peroxomonosulphuric acid
QUITHCEFT GLMGermaFeulluw,ifls ilevid
B) Pyrosulphuric acid
anUGTMEFeLIW, 18 jdlevld
C) Peroxodisulphuric acid
QUITEHGFMemLFLIW & 9dlevn
D) Thiosulphuric acid
SCWmsFeuLIuLfle 9 dlevin

Correct Answer :- C) Peroxodisulphuric acid



120 ‘Which of the following is an odd-electron molecule ?

121

LY 60TeU (HLD eLN6V & B MG @B 6T 62 M6 MLILIEML
6TELE LT ITEOTSH 60 6T 2_60L_UIS 6TSI ?

A)CO
CO
B) CO,
CO»
C) H,O
H,O
D)NO
NO

Correct Answer :- D) NO

If M, and M, are the molecules masses and r; and r; are the rate of
diffusion of gases 1 and 2 respectively, according to Graham's law of
diffusion, which is the correct relation ?

QUMW EE6T 1 LDMHMILD 2 —63T eLNEVE Tn NI [H60ME 6T
WemmGEW M; LoMHMILD M, eTeoTa) LD adlFeu6v 678 Mg 6T
WemmMGEW 1, LDMMILD 1, 6TEOTEYLD @)\ (HIHS M6V, & Fam Lol 6o
aflgeuev & LILILG, 618 FflWimerr QS TLFL| ?

A n _ T
My M,
5 .5
My M,
B
)n _ M
ty M1
¢ M



C)inE

D) n _ M
I My
n_M
I M,
n_ M
Fa M1

Correct Answer :- B) =
122 Which of the following is a paramagnetic molecule ?
L9 60T6U (HeU 60T MMIET LIMTMS&THSS H60Temn 2 6mL UL
ELNGVLE T M) 6T ?

A)H
H;
B)N,
N,
C)0,
0))
D) F,
F,

Correct Answer :- C) O,



123 The gas which is the main constituent of biogas is
o W7 eurweflev Qeuerflm@Ld LNT&meor eurmuwy
QS LD.

A) Hydrogen sulphide
6DYQML_[JE60T &F6V60)LIL
B) Ethylene
678 ) 65] 60T
C) Methane
L85 B & 60T
D) None of the above
GLosyleTereumM ey 6T&16)Lol6VEm 6V

Correct Answer :- C) Methane

124" Pomato or topato are somatic hybrids produced by fusing cells of :

QUL GLIT &6V6VS! QLITUML GLIT' 6T6edTM 2 L 6VEFTT &HevLiLNeorid
@) 60TMBISH 06T HEVHSHS).

A) Solanum nigrum and Solanum torvum
Q&FMEVITETLD MBS LD LDMMILD QIFMEVITEOTLD LTF6eULD
B) Solanum tuberosum and Solanum nignem

Q&FMeVMeoTLD LWLGTM&FLD LoMmMILD Q& TEVITEOTLD
60 H&IJLD

C) Solanum torvum and Lycoperscon esculentum
QEFITEVITEOTLD LITFEULD LDMHMILD 6608 CSH TG LITenSl&s LD
6T6MN (& G16VEOTL_LD

D) Solanum tuberosum and Lycoperscon esculentum
Q&FmeVMeoTLD LW L|GTMEFLD LDMMILD 66V 88 MELITeI & L0
6T6N (& G16VEOTL_LD

Correct Answer :- D) Solanum tuberosum and Lycoperscon
esculentum



125 Cry/Bt genes which are used to produce insect resistant Bt crop varieties,
are obtained from :

LLER THFLIL S medt Bt LWIT cuemns&HemeT 2-MHLSS)
QEFUWIW LWeTU@ILD Cry / Bt 836018 61T
ursleflwmssefledmba eT(h & LILGS mS.

A) Bacillus thuringiensis
LIT&6veveny &iifleh6 eererdlen
B) Bacillus subtilis
LIT&leveveny &FLi1g 6060
C) Agrobacterium tumefaciens
A&5CrmUms Ll (WCUS wedreny
D) Agrobacterium rhizogenes

A&CITUMESQLFlwLD 60 Ga medeoTery

Correct Answer :- A) Bacillus thuringiensis

126 ‘Which of the following pairs is called as microbodies ?
BLH&HETaRIN @ mILIL&6rlev 6Temel H6UoTLD 2 L 6V8 61T
eTeoT LILI(H)LD.

A) Ribosome and spherosome
TCUTGEF TN LDMMILD VCLIGTTG&FTLD
B) Spherosome and lysosome
eLCUGTMEFMLD LDMMILD 6M6VEEFTEF LD
C) Glyoxysome and peroxisome
& 60 6M oL &eMICEF TN LDMMID QUFTSHFCEF TN
D) Ribosome and peroxisome

eI CUMGHF T LDMHMID QUIFTHFGEF LD

Correct Answer :- C) Glyoxysome and peroxisome



127 The flowers in Solanaceae are :

QEFMVTCeTH & (H LD LIS 60T LDEVTE6T :

A) Actinomorphic
QA TFFINFFT TS
B) Zygomorphic
@@LUUSSF FIOFFTTers
C) Oblignely zygomorphic
FTUIGUTET @HLISHEHE FIOEF TS
D) None of the above

GsyieTemauMNlev 616 Ll 6vemev

Correct Answer :- C) Oblignely zygomorphic

128 Temperature coefficient (Q1o) for photosynthesis under normal
conditions is :

FMSHITT600T GLOHlemeuUI6v, sperfl&FG& 78 6m & Ul 60T
QEULILIB6m6V (&600T8 5 H 60T (Q10) 66 :

Al
1
B)2
2
C)3
3
D)4
4

Correct Answer :- B) 2



129 Which hormone enhances human growth through metabolic functions ?
QETIFemns LDMMHM C&FWeVLITHISET CLNEVLDMTS
LN 60T & 6011 60T eUeT & Fletrl GO LI &SI e T GLOmedT
6T& ?

A) Thyroid

&I MW ()
B) Aldosterone

L6V GL_ITEN LR [T 60T
C) Testosterone

QL6 GLITeNLe [JITeoT
D) Oxytocin

25 6r0l L m& 6ot

Correct Answer :- A) Thyroid

130 ‘Which of the following bone is NOT a part of middle ear of human ?
L9 606U (Ih6) 60T6U M MIGIT 6T[H S 6TeVILDL] L0601 & 60fl60T L0 G T Wl

&M LGS @)6vemnev ?
A) Cochlea

&M& I WIT
B) Malleus

Lomedlwieny
C) Incus

@) 6018 6N
D) Stapes

e GL L6

Correct Answer :- A) Cochlea



131" Name the disease characterized by inflammation of udder due to
bacterial infection :

ursleflwm Qsmmlermev () 656858 &) 6o eor
goUBSSID GBmulledr QUWI :
A) Cattle plague
&HMeuBenL LINCers
B) FMD
&6V LDMMILD eUTUl GBIl
C) Bovine typhus
QLIIT6M6U60T 60)L_LI6IN
D) Mastitis

LOITENVLY L9610

Correct Answer :- D) Mastitis

132 The Mitral valve associated with the left heart is otherwise called as :

QLS LM Q&WEHCHTH QSTLIL|60L I 60LOL 6V
GUITELE LOMQMITH G LIWITIT6V 6T6U6UTMI
MW&ESILBSR M ?

A) Bicuspid valve
FlGLD almeve)
B) Tricuspid valve
ewellsLo aimevey
C) Semilunar valve
LYemm 6Ulg.6U 6UITELEY
D) Pulmonary valve

BlemTUTT6L aUmevea

Correct Answer :- A) Bicuspid valve



133 Identify the type of shell fish from the given options :

Q&ETHSHELILL(heTereumMmiey e(hemL LE6OT 6)6m &6
&600T LM 55.

A) Catla catla
&HL6VIT &L 6UIT
B) Labeo rohita
eumlIGwIm GrmGILT
C) Cirrhinus mrigala
A ifleorerv AT TELIT
D) Penacus indicus

LY GeoT U6 @) 600TLq.856M

Correct Answer :- D) Penaeus indicus

134 A hormone produced by kidney that stimulates rate of production and
maturation of red blood cells from bone marrow is :

TIDLY LOBRMBUTL @BHE! 2 BTG QTS5
FleuliLienisaerfler 2 MUSE LnMHmILD (T Teme,
FlobrssS6r 6ThS ML Sievor Q& ME! ?
A) Erythropoietin

6T 1f18 G T UL 60T
B) Renin

Qevfledr
C) Prostaglandin

L GIJ 61V LT3 61T IT60T LY. 60T
D) Thromboxane

ST MOLITEGerneor

Correct Answer :- A) Erythropoietin



135

136

(LNEeM &G 60T 3 600TL6UlJ LileTemens &LOILD Hmedleor oS\ flwiy
W ?

A) Fi&HmTL Ljevel
B) Feuaumgl Ljeveuy
C) 61600T600TE S6MEHEFWILI Lj6vel )

D) Ngema @uUIm&IDd Ljevelr

Correct Answer :- B) F6UGUTSI L|6V6UTT
& ((H&6 S MevoT LT H(H6eUBHSTH emUIL LIMIQUIeUF WITF ?
A) pLOLNwmen T
B) oL wimeoor iy mLoLd
O) &SI CHaUBTUIETTH

D) ®\®BrTeysaIary

Correct Answer :- B) BLOLIwWmevorLmy BLOLI



P S\(G&G D6, Blheungsid, BTevlgumy Sp&Ww eperm!
LIS LAILD BT6LE6m 6T 3, MG s 5 6V
QLMHAQUWISSHEUT WITF 2

A) ol .uy. GUITLl
B) &5mev (h @ 6u6v
0) 5. GrmLied

D) Geallwiy

Correct Answer - A) 83l.u]. GLITLI
B33 Geaugmmwssd LNetemer wWTHlLLb SLALDE SHMTT ?
A) IeoTTL& &HS LD LeTemer
B) &\ (perq.evor Lil6Temerr
O) yevauJ 75 CoH&I]

D) smGms L LeTemer

Correct Answer - A) WSeTTL& &HSTLD LeTemer



139 Qg mestremL Lo6woTL_6v F& &L LIMIQWIGU[ WITT ?
A) [BeV6VLITLI LYl6iTemerT
B) LIQ &&MaL Ljevelr)
C) Lomeool 1 & eUTFST

D) 9imevorm&evs Sellymuly

Correct Answer :- B) LIIQ&&HTELI L|6V6UI]

140 s BasTer SHemd QLW 6T60T60r ?

A) BFEIMIG (LD6 60T UI6m [T ULTT
B) L& Lpeormiy
O) Fleuunms Qs Wi

D) gemLWI6oTITIy

Correct Answer - D) &F60LUI6OTITIY



141 g cooT600T60T G&F [HS60TITIT 6TIOH W BTN 60T QLI

A) 83155 60 600T BLOLIS
B) 83155 60 600T 6T(LO LIS
C) B emeoorQ DMl &IDLIGI

D) &) 6m)600TLOTEm 6V BIMemMLDLIS!

Correct Answer - C) Slem60orQLOMLYl 3LDLIG)

142 v 9101160760785 &5 600TLSILD S6U6TLNSLD

VT H S S & Ul6m60TE 85600T L
ST T UL CLIMEL 6V6V
GEFMMEMME &600TL 6J60ILD6DIUILIGLIMEL"

6T60TM QIFMEVEVLDL]&HEHHEGHE QFMHSLOMEOTEUT WITH ?
A) el & 60T

B) . 1@ flFmdl

O &HsT Frns Tl

D) &).5r. Q&F6veuLILIT

Correct Answer - A) 61155 60T



43 GLoeoTas T 6TedTEnILD HTEU6L G)6VSHH WG S
BTLS&SLOMEHS U6 WITT ?

A) LeumeooTH & LD LileTemer
B) spsamdl (ngseSlwimy
C) 6Tov.19.. &HHSTLD

D) 1q.G%. (NSSIFTLA

Correct Answer :- B) &BSFMLA pgedlwimy

144 B8 @)WV 6TedTm BITL 8 ©)608 86007 HIT6eh6V

@Qummlwelr Wy ?

A) GIlw BTImwesor &merGflwimy
B) FmiI&T&MTeN &6eUmLil &6t

C) oy 6v0T600T T

D) &lbUbB S WSHeNWITT

Correct Answer - A) @& f1W BT TTW600T FMervS\ iflulmy



1% 9 guiemr@LMy &melluLh 678860 60T & T600TLMiI& 606

Q& meoor(h) TS LILIL L &I ?
A) BhSl
B) 9,01
O e

D) g

Correct Answer :- B) &, Ml
14 GOIBOS TS TETEID BIEMS QFHTGSSSHT W ?
A) U fl&Gasm
B) 5606V IHSI6UEOTITI
C)LevgaImT WHMIW oL T SO

D)2 (&S TF6TLON

Correct Answer - A) LLIfl&G&T



147 6\ 6toTevoTd & ILILD & 600TL LIM6vofl &ML &6T TS W

BITed6dT QLU 6T60T60T 2

A) Q& TEOOTE0)L LDGOOTL_ 6V &F&H & LD
B) Ljeveury LjymevorLh

O sudlpprelen] Fifleng

D) gl eveu &fl&SITLD

Correct Answer :- B) L|6V6UIJ LT T600TLD

148 56560 & 6uM6uoT60T G&HMem6Y HMedl6dT @y S Wiy W ?
A) 6 T60T 60T
B) & (6560 & 61 T600T 60T
C) efgasellgmuy

D) @umuiwmmglll Ljeveury

Correct Answer - D) QUITUWW QML Ljeveur



9 g G ST THMILT LIEDL 6TeTmI &6eM& L QLMILD HT6V 6T&!
?

A) DemeV LIS LITLD
B) (pevemeult LML ()
O) QB (HH6V 6UMetIL

D) ML L

Correct Answer :- A) LD606VLI(H&LITLD
30 gagwimssl LigeofluNesr <w@& flwif wir ?
A) QFWMIQ &ITE00T LT
B) @l L&EFmEST
O) sslbury

D) &mem@Lnss Ll Ljevad ()

Correct Answer :- B) @L L &SI

* Indicates all the options are incorrect, marks will be awarded for the respective questions during the evaluation.






